EIVASAZIPN =
113824 R LI A B ela R

4 BR: 298
2 B ARSI EEERL AT

A

- MBS
> 0202
SN

T AEEAETER

I
& O

2z
>

B
Pt
bhd




Y BTTRRDIACES 113 B RErE - TR A e SR
% P Al YRR B SE
EHFE - EY{EE SESEEHD 0202 5% 0 1

B|1H - E

X OEEFAER C ERNEEERFR LEVR P SRS RARER EEEE - AT -
ZIT—EE@KTEH? STEREEAETEERES - -

X Write down the question numbers in series on the answer sheet, followed by your answers to each question
in either Chinese or English. The use of calculators or electronic devices in this exam is strictly prohibited.
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PART ONE: Definition of terminology (40%)

Directions: Explain the following terms from the aspect of. Bzochemzst}y Among z‘he total of 12 terms below,
you are allowed to select 10 and ONLY 10 terms to answer. Any additional selections of terms
will not be scored. Each term counts 4 points (4%).

¢ Cytochromes e Histone acetylation

e Ketone body e Bohr effect

e Folic acid ¢ Restriction endonucleases
e Coricycle e Epigenetics

o SDS-PAGE e Omega-3 fatty acids

e NADPH (nicotinamide adenine e Biotin

dinucleotide phosphate)
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PART TWO: Essay (60%, 15% for each question)

Directions: Read and answer the following questions in a well-organized way. Draw pictures or tables to
illustrate your points, if necessary.

1. Atherosclerosis (%) 8k 3 # 4L is caused by several risk factors including high levels of low-density
lipoproteins (LDL) in plasma. What is LDL? Your answers must include its composition, normal
function, metabolism, and the role of macrophages in scavenging oxidized LDL. (15%)

2. Signal transmission across the cell membrane results in a cascade of intracellular events by secondary
messengers such as calcium ion (Ca**). How does calcium ion work as a secondary messenger? Your
answers must include the processes of the G protein-mediated activation of phospholipase C,

" hydrolyzation of phosphatidylinositol 4.5-bisphosphate (PIPz) and phosphorylation of the target enzyme.
(15%) -

3. Transfer RNA (tRNA) plays an important role in the translation of genetic codes by carrying specific
amino acids to the site of protein synthesis. What is tRNA? Your answers must include its structure and
how it interacts with both mRNA and rRNA. (15%)

4. Glycogen is the storage form of glucose and is either synthesized or broken down depending on the body's
needs. How is the metabolism of glycogen regulated? Your answers must include the roles of insulin and
glucagon in modulating glycogenesis and glycogenolysis. (15%)




